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Technology Acquisition.

Certification by the 
Integrator.

Investment in the OSS 
maintenance team.

Done by 
Integrator

Done by 
Integrator

Done by 
Integrator

Done by 
Integrator

Done by 
Integrator

Done 
through OSS 
Provider

Scenario 4

�Certification

�Maintenance

Technology Acquisition.

Certification by the 
Integrator.

No maintenance on OSS.

Done by OSS 
Provider

Done by OSS 
Provider

Done by OSS 
Provider

Done by 
Integrator

Done by 
Integrator

Done 
through OSS 
Provider

Scenario 3

�Certification

�No Maintenance

Technology Acquisition.

Investment in an in-house 
OSS maintenance team.

Done by 
Integrator

Done by 
Integrator

Done by 
Integrator

Not 
necessary

Done by OSS 
Provider

Done 
through OSS 
Provider

Scenario 2

�No certification

�Maintenance

No investment.

Risk is low and accepted.

Situation in Space today

Done by OSS 
Provider

Use of Source 
Code

Done by OSS 
Provider

Not 
necessary

Done by OSS 
Provider

Not

necessary

Scenario 1

�No certification

�No maintenance

Synthesis Major 
Evolutions

Long Term

Maintenance

Operational
Maintenance

Certification 
documents

Adaptation to 
system

Technology 
Acquisition
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AcatastrophicA-BSIL 3-4Impact 
on human lives
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DAL (Development Assurance Level)
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